

Friday 1:00 pm

Salon de Quilles Laval

Lanes 3 - 14

Average List of Regular Team Members

Men Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
8	Francois Ethier	bk193	627	3	225	627	4	Marcel Poulin	170	1023	6	205	541
7	Bernard Robert	206	13033	63	289	788	4	Marcel LeHouiller	170	10902	64	279	660
1	Richard Dagenais	204	14116	69	288	712	8	Guy Barry	165	10931	66	242	609
5	Serge Paquette	200	12634	63	257	698	12	Jean-Marc Levesque	164	11356	69	235	572
10	Francois Guerard	199	10793	54	278	751	10	Yves Bertrand	162	11240	69	216	581
6	Robert Lecours	189	11913	63	278	656	10	Real Charron	156	9414	60	230	566
7	Serge Gibeault	187	10114	54	256	663	6	Jean-Pierre Angers	156	10335	66	257	598
7	Jean-Marie Larente	186	12291	66	300	739	3	Richard Dupuis	bk173	468	3	175	468
2	Roger Lacelle	186	9865	53	267	696	10	Alain Ethier	152	9630	63	230	590
5	Richard Goyer	185	12232	66	268	657	10	Pierre Lagace	137	9501	69	226	541
4	Daniel Robillard	182	10405	57	236	640	4	Raymond Reid	134	7679	57	195	487
2	Raymond Blais	181	11456	63	245	640	3	Gilbert Rouleau	132	792	6	153	430
5	Gilles Barrette	181	12526	69	250	694	3	Robert Lacas	111	670	6	138	343
8	Rejean Moussette	179	12379	69	254	624							

Women Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
9	Huguette Lalonde	189	11357	60	269	688	11	Micheline Fortin	154	10677	69	229	596
11	Danielle Chabot	186	11209	60	265	705	8	Elen Fortin	154	10626	69	236	534
1	Louise Jacques	182	11487	63	258	678	3	Celine Dupuis	bk173	459	3	204	459
11	Huguette Pilon	180	11396	63	258	621	9	Monique Sickini	149	8060	54	229	554
7	Lise Lachance	178	10685	60	254	680	5	Micheline Theriault	148	9364	63	218	574
4	Lise Beaupre	175	12112	69	246	658	6	Josee Lecours	148	9354	63	268	610
12	Helene Richer	175	11567	66	248	645	11	Claire Moussette	148	10243	69	206	584
5	Lisette Carrier	174	10478	60	278	656	12	Carole Robillard	144	9985	69	219	512
12	Micheline Soulard	174	12026	69	300	677	6	Claire Lecours	144	7228	50	217	604
6	Denise Belanger	172	11925	69	246	652	7	France Marion	141	8934	63	209	553
1	Monique Lecompte	170	11773	69	268	618	3	Nicole Rouleau	140	843	6	175	440
12	Jeannette Goupil	163	10822	66	266	652	11	Sylvie Barry	136	9267	68	233	546
9	Francine Angers	163	10784	66	259	702	2	Dolores DeLagrave	135	7340	54	202	493
9	Nicole Gregoire	162	8295	51	227	581	1	Gisele Dubord	131	9075	69	217	521
8	Lisette Cyr	162	11207	69	233	596	9	Micheline Normandin	124	4348	35	163	463
2	Suzanne Bouffard	158	10959	69	268	641	2	Micheline Gascon	115	7987	69	211	498
1	Ginette Maisonneuve	155	10721	69	243	577							

Lane Assignments

	3-4	5-6	7-8	9-10	11-12	13-14
Today	10- 8	12- 3	1- 7	4- 5	6- 2	9-11
Next Week	6- 7	11- 4	8- 2	9- 3	1-10	5-12

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	2	2-SUZANNE BOUFFARD	Suzanne Bouffard	298½	39	775	20320	1067	3035
2	8	8-REJEAN MOUSSETTE	Rejean Moussette	272½	50	853	20013	1077	2952
3	4	4-LISE BEAUPRE	Lise Beaupre	272	33	831	19916	1043	3027
4	9	9NICOLE GREGOIRE	Nicole Gregoire	253½	48	787	19860	1049	2938
5	11	11-SYVIE BARRY	Sylvie Barry	249	34	804	19848	1032	2953
6	3	3-RICHARD DUPUIS	Richard Dupuis	228½	41	729	17086	1051	2938
7	10	10-YVES BERTRAND	Yves Bertrand	217½	20	806	19383	1034	2952
8	12	12-HELENE RICHER	Helene Richer	188½	15	820	19315	999	2831
9	5	5-SERGE PAQUETTE	Serge Paquette	177½	23	888	19147	977	2849
10	1	1-LOUISE JACQUES	Louise Jacques	169	42	842	19201	1168	3031
11	7	7-JEAN-MARIE LARENTE	Jean -Marie Larent	134½	15	898	18918	984	2759
12	6	6-CLAIRE LECOIRS	Claire Lecours	131	12	809	18619	990	2910

Last Week's Top Scores

Handicap Game	1168	1-LOUISE JACQUES	1021	3-RICHARD DUPUIS	1008	8-REJEAN MOUSSETTE	
Handicap Series	3031	1-LOUISE JACQUES	2952	8-REJEAN MOUSSETTE	2923	9NICOLE GREGOIRE	
Men	Scratch Game	279	Richard Dagenais	225	Francois Ethier	223	Francois Guerard
	Scratch Series	647	Francois Guerard	627	Francois Ethier	604	Richard Dagenais
Women	Scratch Game	245	Louise Jacques	218	Ginette Maisonneuve	211	Danielle Chabot
	Scratch Series	598	Louise Jacques	542	Danielle Chabot	526	Lise Beaupre

Season High Scores

Handicap Game	1168	1-LOUISE JACQUES	1077	8-REJEAN MOUSSETTE	1067	2-SUZANNE BOUFFARD	
Handicap Series	3035	2-SUZANNE BOUFFARD	3031	1-LOUISE JACQUES	3027	4-LISE BEAUPRE	
Men	Scratch Game	300	Jean -Marie Larente	289	Bernard Robert	288	Richard Dagenais
	Scratch Series	788	Bernard Robert	751	Francois Guerard	739	Jean -Marie Larente
Women	Scratch Game	300	Micheline Soulard	278	Lisette Carrier	269	Huguette Lalonde
	Scratch Series	705	Danielle Chabot	702	Francine Angers	688	Huguette Lalonde

Team Rosters

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
1 - 1-LOUISE JACQUES									
Gisele Dubord	9075	69	131	141	132	109	382	141 - 131=10	382 - 393=-11
Ginette Maisonneuve	10721	69	155	218	89	164	471	218 - 155=63	471 - 465=6
Monique Lecompte	11773	69	170	126	176	197	499	197 - 170=27	499 - 510=-11
Louise Jacques	11487	63	182	245	185	168	598	245 - 181=64	598 - 543=55
Richard Dagenais	14116	69	204	279	163	162	604	279 - 204=75	604 - 612=-8
2 - 2-SUZANNE BOUFFARD									
Suzanne Bouffard	10959	69	158	175	189	156	520	189 - 158=31	520 - 474=46
Dolores DeLagrange	7340	54	135	a135	a135	a135	405		
Micheline Gascon	7987	69	115	111	121	149	381	149 - 115=34	381 - 345=36
Roger Lacelle	9865	53	186	168	152	a187	507	168 - 187=-19	
Raymond Blais	11456	63	181	147	126	149	422	149 - 183=-34	422 - 549=-127
3 - 3-RICHARD DUPUIS									
Robert Lacas	670	6	111	100	138	105	343	138 - 109=29	343 - 327=16
Nicole Rouleau	843	6	140	97	143	163	403	163 - 138=25	403 - 414=-11
Celine Dupuis	459	3	bk173	155	204	100	459	204 - 173=31	459 - 519=-60
Gilbert Rouleau	792	6	132	131	146	153	430	153 - 139=14	430 - 417=13
Richard Dupuis	468	3	bk173	175	122	171	468	175 - 173=2	468 - 519=-51
4 - 4-LISE BEAUPRE									
Raymond Reid	7679	57	134	94	105	143	342	143 - 135=8	342 - 405=-63
Daniel Robillard	10405	57	182	152	200	176	528	200 - 182=18	528 - 546=-18
Marcel Poulin	1023	6	170	129	175	178	482	178 - 193=-15	482 - 579=-97
Marcel LeHouiller	10902	64	170	a170	a170	a170	510		
Lise Beaupre	12112	69	175	173	171	182	526	182 - 175=7	526 - 525=1
5 - 5-SERGE PAQUETTE									
Lisette Carrier	10478	60	174	134	152	146	432	152 - 176=-24	432 - 528=-96
Micheline Theriault	9364	63	148	131	135	132	398	135 - 149=-14	398 - 447=-49
Gilles Barrette	12526	69	181	189	178	170	537	189 - 181=8	537 - 543=-6
Richard Goyer	12232	66	185	177	159	149	485	177 - 186=-9	485 - 558=-73
Serge Paquette	12634	63	200	183	213	162	558	213 - 201=12	558 - 603=-45
6 - 6-CLAIRE LECOIRS									
Claire Lecours	7228	50	144	121	97	76	294	121 - 147=-26	294 - 441=-147
Josee Lecours	9354	63	148	92	158	143	393	158 - 149=9	393 - 447=-54
Denise Belanger	11925	69	172	178	110	184	472	184 - 173=11	472 - 519=-47
Jean-Pierre Angers	10335	66	156	108	97	128	333	128 - 158=-30	333 - 474=-141
Robert Lecours	11913	63	189	164	218	213	595	218 - 188=30	595 - 564=31
7 - 7-JEAN-MARIE LARENTE									
Lise Lachance	10685	60	178	196	125	170	491	196 - 178=18	491 - 534=-43
France Marion	8934	63	141	108	138	111	357	138 - 142=-4	357 - 426=-69
Serge Gibeault	10114	54	187	a187	a187	a187	561		
Jean -Marie Larente	12291	66	186	189	168	158	515	189 - 186=3	515 - 558=-43
Bernard Robert	13033	63	206	154	156	196	506	196 - 208=-12	506 - 624=-118
8 - 8-REJEAN MOUSSETTE									
Lisette Cyr	11207	69	162	183	135	126	444	183 - 163=20	444 - 489=-45
Elen Fortin	10626	69	154	137	155	154	446	155 - 154=1	446 - 462=-16
Guy Barry	10931	66	165	133	143	145	421	145 - 166=-21	421 - 498=-77
Rejean Moussette	12379	69	179	209	147	220	576	220 - 178=42	576 - 534=42
Francois Ethier	627	3	bk193	200	225	202	627	225 - 193=32	627 - 579=48

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
9 - 9-NICOLE GREGOIRE									
Monique Sickini	8060	54	149	a149	a149	a149	447		
Micheline Normandin	4348	35	124	142	114	115	371	142 - 124=18	371 - 372=-1
Francine Angers	10784	66	163	159	142	143	444	159 - 164=-5	444 - 492=-48
Huguette Lalonde	11357	60	189	a189	a189	a189	567		
Nicole Gregoire	8295	51	162	142	155	164	461	164 - 163=1	461 - 489=-28
10 - 10-YVES BERTRAND									
Pierre Lagace	9501	69	137	101	100	133	334	133 - 138=-5	334 - 414=-80
Yves Bertrand	11240	69	162	173	109	195	477	195 - 163=32	477 - 489=-12
Alain Ethier	9630	63	152	118	131	120	369	131 - 154=-23	369 - 462=-93
Real Charron	9414	60	156	152	97	100	349	152 - 159=-7	349 - 477=-128
Francois Guerard	10793	54	199	212	223	212	647	223 - 198=25	647 - 594=53
11 - 11-SYVIE BARRY									
Sylvie Barry	9267	68	136	106	99	126	331	126 - 137=-11	331 - 411=-80
Claire Moussette	10243	69	148	150	156	135	441	156 - 148=8	441 - 444=-3
Micheline Fortin	10677	69	154	151	133	112	396	151 - 155=-4	396 - 465=-69
Huguette Pilon	11396	63	180	201	171	124	496	201 - 181=20	496 - 543=-47
Danielle Chabot	11209	60	186	176	211	155	542	211 - 187=24	542 - 561=-19
12 - 12-HELENE RICHER									
Micheline Soulard	12026	69	174	159	151	129	439	159 - 175=-16	439 - 525=-86
Jeannette Goupil	10822	66	163	99	115	178	392	178 - 165=13	392 - 495=-103
Carole Robillard	9985	69	144	156	159	176	491	176 - 143=33	491 - 429=62
Jean-Marc Levesque	11356	69	164	188	122	111	421	188 - 165=23	421 - 495=-74
Helene Richer	11567	66	175	158	117	152	427	158 - 176=-18	427 - 528=-101